SHEET:
MODELS SHORT LONG MODELS FLUSH 1 OF 4 LA SIS
—— < cresy T —— REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
GALLERY GD2SU, GR2 ’ CLOPAY CLASSIC | 9202, HDPC20 03 — | o08/2016 = SH | REMOVED WIND SPEED TABLE.
A‘;‘%'EQTE% AR2SU AR2LU HOLMES CLASSIC 7202 04 ~ | '9/29/20 - SH | UPDATED TITLE BLOCK AND ADDED IBC/IRC COMPLIANCE STATEMENT.
IDEAL
EXPRESSIONS ED2su S e B e THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC.
OPTIONAL IMPACT RESISTANT GLAZING. SEE SECTION B—B (1) 20 GA. BACKER PLATE AT EACH INTERMEDIATE
HINGE LOCATION. BACKER PLATES ATTACHED WITH
ON SHEET TWO FOR DETAILS. LONG GLAZING SHOWN; DOUBLE—SIDED ACRYLIC ADHESIVE TO BACK OF DOOR
/ SHORT GLAZING ALSO APPROVED. GLAZING NOT TO EXCEED :
38-1/2" x 13". A
/ I - (2) GALV. STEEL TOP ROLLER BRACKETS. SEE
| SECTION A—A ON SHEET THREE FOR DETAILS.
=‘.’ # ”, ’ . ’ . A, . # oy
o | ] 16 GA. MIN. GALV.
Y { l A STEEL END STILES.
Y _
E5C c . NV
g IEwW "C”
[<]
58
0no
i P
TWO POINT LOCKING
INTO TRACK.
U—BAR.
T—STRUT.
i BRACKET
MAX. DOOR WIDTH = 18'—2" USED FOR
INSIDE_ELEVATIONS BOTTOM
DOUBLE END SNAP LATCH ENGAGES END
STILE. ONTO VERTICAL TRACK. TILE
DOOR HEIGHT ¥ OF ONE SNAP LATCH ON STIL
- SECTIONS SLDE BOLT LOCK EACH SIDE OF DOOR.
UP_TO 8°0 4 ENGAGES INTO
83" 70 10'0° 5 END VERTICAL TRACK. OUTSIDE
10'3° 10 1207 6 STILE. ONE LOCK ON HANDLE. LOCK BAR
12'3° 70 14°0" 7 EACH SIDE OF  outsIDE \ END ENGAGES IN
14’3° 10 16'0° 8 PO KEYED ! STILE TRACK ON
MAX SECTION HEIGHT: 24’ HANDLE. : EACH SIDE
OF DOOR.
INSIDE SLIDE BOLT INSIDE HANDLE
LOCK_OPTION. K WITH K Wi
SNAP_LATCH LOCK OPTION. LOCK BAR LOCKING.
MANUFACTURING PRODUCT CODE
DSIU-1F471
DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F
TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. PART NO.: N/A
Unless Stated Otherwise - “I h84585 Dghe4ggx[|)evljlsrg WINDLOAD RATING
ason,
7 ' TOLERANCES ore |y WslO) a,y Tel, No. 513-770-4800 W6 DPXIST
" W VA STERY 0 = +.031 CORPORATIO Fax No. 513-770-4853
'y /d/ 2020 = :gég DESCRIPTION: 2" GALLERY PUR DOORS 18'2"W (SEE TABLE)
o gy T STORE  CE S 0000 = +.001 |DRAWN BY: sH DATE: 1/10/13 | SCALE: NTS DWG.
BERSKIL&E‘s?%ﬁ&éyoEEﬁRé& - Degrees = +1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 4 |SIZE
D, RE - Unless Stated Otherwi
FLOR|DA;_P.§E_" ‘--.#}4349'\5. NC P.E. #23832, TEXAS P.E. #91513 DrMeEstSIOP?SeARE I:lmll;\lngES. DWG. NO.: 104821 VER: TDI




SHEET: REVISIONS
MODELS SHORT LONG MODELS FLUSH 5> OF 4
=TOPAY REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
GAERY GD2SU, GR2SU GD2LU, GR2LU CLOPAY CLASSIC | 9202, HDPC20 o — — = = AR E G
HOLMES
ARIH-:STLRY AR2SU ARPLU HOLMES CLASSIC 7202
A
EXPRESSIANS ED2su ED2LU IDEAL CLASSIC | 8202, MFC68U
IMPACT—RESISTANT CONSTRUCTION:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM
FRONT FRAME GE LEXAN MR10, AN APPROVED CC1 PLASTIC IN ACCORDANCE WITH
IBC/FBC 2606.
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)
INSULATED DOOR SECTION.
DECORATIVE FACADE.
(16) #8-18 x
1/2" TEK SCREW.
175"
(12) #8-18 x RETAINER.
1/2" TEK SCREW. ALUMINUM FRAME.
1/4” THICK POLYCARBONATE
GLAZING.
€ OF 7.
- MANUFACTURING PRODUCT CODE
& . DSIU-1F 471
= DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
- TEST LOADS: +57.0 F'SF & —63.0 P.SF. PART NO.: N/A
; Ear LD Unless Stated Otherwise 8585 Duke Boulevard WINDLOAD RATING
: . ; Mason, OH 45040 USA
: - TOLERANCES are l}lﬂ a Tel. No. 513~770-4800 \/\/ 6 D P 3 8 T
/ " a1503 g 2 0= +.031 CORF’ORA 10 Fox No. 513-770-4853
d ;2 zaza R 688 = i-gég DESCRIPTION: 2” GALLERY PUR DOORS 18'2"W (SEE TABLE)
N N T 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN EN@WEER‘“ Degrees = +1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 4 |SIZE
MARK WESTERFFELDM P.E.- Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832. TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104821 VER: TDI



SHEET:

MODELS SHORT LONG MODELS FLUSH 3 OF 4 REVISIONS
CLOPAY GD2SU, GR2SU GD2LU, GR2LU CLOPA assic | 9202, HpPC20 REV. NO4 ZONE:{ DATE: | ECN NOy APFVD: DESCRIPTION
GALLERSY ’ ’ Y CL ’ 04 - - — - SEE REVISION HISTORY ON SHEET ONE.
HOLME
ARTISTRY AR2SU ARZLU HOLMES CLASSIC 7202

AL

e s ED2SU ED2LU IDEAL CLASSIC | 8202, MFCesu

SILICONE FILLED CHANNEL SEPARATES
FRONT AND BACK SKIN OF DOOR.

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: s
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 URETHANE CORE, —{t.:::
SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE 24 PCF. DENSITY. :

— SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE.
ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE 725
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE — LA
MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. Ver
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING fe
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE Ji
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE ,
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, pod 27 GA. (0.016” MIN.) INTERIOR STEEL SKIN
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED L (DRAWING QUALITY) WITH G—=40 MIN. GALV.,
C LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE 1 BAKED—ON PRIMER AND A BAKED—ON
PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS £ POLYESTER PAINTED TOP COAT APPLIED TO
OF THE SUPPORTING STRUCTURE. BOTH SIDES OF STEEL SKIN.
14 GA. GALV. ROLLER HINGE. EACH HINGE

FASTENED TO END STILES WITH (4)
#14x5/8" SHEET METAL AND (2)

%/ 12 GA. GALV. STEEL TOP ROLLER

BRACKET. EACH BRACKET ATTACHED
WITH (4) #14x5/8” SHEET METAL
SCREWS.

-T-ue* FROM EDGE
| — #14x5/8" SHEET METAL SCREWS

VIEW "D”
4” TALL TAPER STRUT. o0 1/4"x3/4" SELF TAPPING SCREWS. SEE

0.062” MIN. GALV. STEEL, VIEW "B".

80 KSI. MIN.

—

\3" TALL X 20 GA. GALV. 80 KSI STEEL
U—BARS. ONE U-BAR ON EVERY
OTHER SECTION. ATTACH WITH TWO
1/4"x3/4" SELF TAPPING SCREWS PER
HINGE LOCATION.

ONE 4" T—STRUT PER SECTION. (SEE
VIEW "D") EACH T—STRUT ATTACHED AT
EACH HINGE LOCATION WITH (2)
1/4"x3/4" SELF TAPPING SCREWS.

A .

1/4"x3/4" SELF
TAPPING SCREWS.

14 GA. END HINGES 18 GA. (MIN.) INTERMEDIATE HINGE

VIEW "B" VIEW "C” ;
- : » / =
B PREPARATION OF JAMBS BY OTHERS 27 GA (0.016" MIN.) EXTERIOR STEEL

SKIN WITH G—40 MIN. GALV. BAKED—ON
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): POLYESTER PAINTED TOP COAT APPLIED
3/8"x3" LAG SCREWS ON 19" CENTERS. 1—1/8" 0.D. WASHER REQUIRED. LAG SCREWS TO BOTH SIDES OF STEEL SKIN.

MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

13 GA. GALV. STEEL BOTTOM BRACKET ATTACHED
WITH (2) #14x5/8" SHEET METAL SCREWS.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

ATTACHM - PSI_MI
] 3/8"x3” SLEEVE ANCHOR BOLTS ON 11" CENTERS (2,000 PSI MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS. SECTION A—A (SIDE VIEW)
v, OR
7 G A/#°x3” TAPCON SCREWS ON 9” CENTERS (2,000 PSI MIN. CONCRETE) OR 5" CENTERS
S (C-90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
o ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING MANUFACTURING PRODUCT CODE
F ,« SPRFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. DSIU-1F 471
: DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
A L Y (T B TEST LOADS: +57.0 P.SF. & —63.0 P.S.F. PART NO.: N/A
i OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN Unless Stated Otherwise | (D 8585 Duke Boulevard WINDLOAD RATING
5, PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR TOLERANCES ore |l ﬂ'u ay Yason Qi 45080 v \/\/ D P 3 8 —I-
R s . o = e
1275 ._ JAMB _(?ONFIGURATIONS. 0= +.031 |CORPORATIO Fax No. 513-770-4853 6
10)z2 /2020 : 638 = i-gég DESCRIPTION: 2" GALLERY PUR DOORS 18'2"W (SEE TABLE)
“greag € .0000 N +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWGC.
DESIGN - ENGINEER: Degrees = %1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 3 OF 4 [SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104821 VER: TDI

4 | 3 “*> 2 1




MODELS SHORT LONG MODELS FLUSH SHEZT' OF 4 REVISIONS
CLOPAY ERELY 550e] h REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
GALLERY GDEStn GRESH GD2LU, CLOPAY CLASSIC » HDPC20 04 - - - - SEE REVISION HISTORY ON SHEET ONE.
HOLMES
ARH]IESTRY AR2SU ARZ2LU HOLMES CLASSIC 7202
AL
EXPRESSIONS ED2SU ED2LU .| FGJRJ:DEAL CLASSIC 8202, MFCé8U
NOTE: TRACK CONFI TION ABOVE THE
D " TRACK NFI ION. DOOR OPENING DOES NOT AFFECT THE ggg:fggﬁ;%%’;
, WIND LOAD RATING OF THIS DOOR. INSTALLER (TO SUIT).
DOOR COUNTERBALANCE SYSTEM "
. - . DOOR A Fl N

T =

HEIGHT | "L”
13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 6—6"] 70"
JAMB WITH (3) 5/16” X 1-5/8" LAG SCREWS
AND TO TRACK WITH (2) 1/4" RIVETS.

N
o
2

1" DOOR OVERLAP (EACH SIDE) —| |—

2x6 SYP WOOD JAMB. SEE
JAMB ATTACHMENT NOTES.

111

E

00

[p®]
3

100
10
3

OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).

16 GA GALV. STEEL DOUBLE—END—STILE FASTENED WITH (1) #8 X 1/2" WAFER SCREW.
END STILE DIM.: 5-3/4 X 2-1/8" X 3/8".
11 ]

b

I

3
o
ke

AS RQD: SPACING NTE 14" O.C.

i
o
o)

—
i~
-1

2" GALV. STEEL TRACK,
TRACK THICKNESS: 0.083".

DOOR HEIGHT“
...‘;_X\, o

2-1/2" X 12 GA GALV. STEEL
TRACK BRACKETS FASTENED TO
WOOD JAMBS WITH 5/6" X

|00
3

—~[=lolofofolm|e NN
I

o lolmoloolnlolnlo
|—
o
=1

=
o
N

s

18 GA. GALV. STEEL CENTER HINGE

E
1A
o

£

3
1
1
[ 11— »
S e 12'-0"[136" 1-5/8" LAG SCREWS NOT TO Zac b, KoUND FASTENED TO SECTION W/(4) EACH
o L At " PUSH NUT )
] 12'—6"[142 EXCEED 14" ON—CENTER. FASTENER. #14x5/8" SHEET METAL SCREWS.
I » w "
TYP. 2—1/2" X 12 GA GALV. 1307|148 )
C g STEEL TRACK BRACKETS, 13-6"1154" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8
z ATTACHED TO JAMB WITH (1) 14'—0"1160" SHEET METAL SCREWS AND (2) 1/4” SELF TAPPING SCREWS PER END HINGE.
g 5/16" X 1-5/8" LAG SCREW PER 14 —6"]166" 2" GALV. STEEL TRACK FASTENED TO
TRACK BRACKET. 15 —0"1172" 12 GA GALV STEEL TRACK BRACKETS i i
15 —6" 178" WITH EITHER (2) 1/4” DIA. RIVETS OR 2" DIA. 7—-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
16—0"[184" (1) 1/4" X 5/8" BOLT & NUT PER
TRACK BRACKET. SECTION €-C N X
—— LHR BRACKET (2—1/2" x 5-3/4" x 12GA)
PREPARATION OF JAMBS BY OTHERS., ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
-’ USED WITH "DOUBLE END STILE" AS SHOWN IN
NOTE: TRACK CONFIGURATION ABOVE THE ZONE B-3 SHEET 1.
" TR DOOR OPENING DOES NOT AFFECT THE UBLE TRACK
S TRACK CONFIGURATION. WIND LOAD RATING OF THIS DOOR. 3" JAMB_CONFIGURATION LR i

CENTER HANG REQUIRED FOR

DOORS OVER 8 HIGH. (AVAIL. FOR BOTH 2" AND 3" TRACK)

DOUBLE HORIZONTAL
TRACK.

J

1" DOOR OVERLAP (EACH SIDE) —

i '--

OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).

2x6 SYP WOOD JAMB. SEE
B 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK JAMB ATTACHMENT NOTES. R ; 16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER
THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK s SCREW. END STILE DIM.: 5-3/4 X 2—1/8" X 3/8".
MIN. ANGLE DIMENSIONS 3—1/4" x 2—7/8". SUPPORT BY DOOR
— N INSTALLER (TO SUIT). = ) ]
VERT'CAL/HOR'ZONTA”L TRACK 14" MAXIMUM SPACING 3_1/4" X 2_7/8” MIN. x 0.080" TAPERED /
= JUNCTION. TWO 1/4” BOLTS [—— FROM LAST MOUNTING ANGLE. SEE LAC BOLT MOUNTING AT TRACK ;F
& NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION 18 GA. GALV. STEEL CENTER HINGE
5 —_ CONFIGURATION BELOW. 7/16” L.D. ROUND FASTENED TO SECTION W/(4) EACH
T PUSH NUT #14x5/8" SHEET METAL SCREWS.
x PN ADDITIONAL MOUNTING SLOTS FASTENER.
— = S ED AT 23 SCENTERS? 0.101"” THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER ’!'IINGES FASTENED TO END
" TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
_ 12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
T i NUT AT EACH MOUNTING SLOT.
,"X v OF 7 L 3" DIA. 8—1/2" LONG STEM BALL BEARING STEEL ROLLER.
o SECTION C—C MANUFACTURING PRODUCT CODE
Z "
= 34" MgE'N{TN GTRSALCOKT '38'5%’,‘(;',5’ NUT AT EACH PREPARATION OF JAMBS BY OTHERS. DSIU-1F471
Q ) DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F. -
e TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. PART NO.: N/A
. / Unless Stated Otherwise 8585 Duke Boulevard WINDLOAD RATING
TRACK LENGTH [
| 2 oo 72 TOLERANCES we | S1OPAY Yoo, 3174581054 W6 DPR8T
/ P8l : £l a'_g': 84" y y 0 = +.031 CORPORATION Fox No. 513-770-4853
Y o e " 9'—0"| 96" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME .00 = #.015 Y —
/ Sl 10 0—07 108" DISTANCES. AS THE. TRACK BOLTS (LE. 3-1/2", 10%, 22", 34", o0z g5 IDESCRIPTION: 2" GALLERY PUR DOORS 182"W (SEE TABLE)
s S 3-1/2" i,-g g‘-g, 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & .0000 = +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DEsIGN“ENG‘lNEER, 5,:3, 30" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2° CHECKED BY: SH DATE: 1/10/13 |SHEET 4 OF 4 [SIZE
MARK WESTERFIELD, P.E. << - VERTICAL/HORIZONTAL TRACK JUNCTION. Unless Stated Otherwise : - :
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104821 VER: TDI

4 | 5 £ 2 1




